

Epsilon-Delta Definitions of Limits: Intuition and Examples

Litong Deng

E-mail: litongdeng24@gmail.com

Accepted for Publication: 2023
Published Date: October 2023

Abstract

Limits are the basis of differentiation and integration — the two fundamental operations of Calculus. In this summary we will explore formal epsilon-delta definitions for different types of limits as well as their intuitive meanings and verification processes

Keywords: math, calculus, limits

Acknowledgements

I would like to express my deepest gratitude for Dr. Ted Shim and Mrs. Diana Shak, my calculus teachers, for fostering within me a love for mathematics and encouraging me to do my own research and explore it. Many thanks as well to my father, whose passion for learning and mathematics has deeply influenced me. I'd also like to acknowledge my friends, so numerous that I cannot possibly name them all, for sitting through tough problems with me and allowing me to explain my thinking to them.

Epsilon-Delta Definitions of Limits: Intuition and Examples

Litong Deng

1 Introduction

Limits are the basis of differentiation and integration — the two fundamental operations of Calculus. In this summary we will explore formal epsilon-delta definitions for different types of limits as well as their intuitive meanings and verification processes.

2 Finite Limits

Definition. We say the limit $\lim_{x \rightarrow c} f(x) = L$ if, for any $\epsilon > 0$, there exists a $\delta > 0$ such that if $0 < |x - c| < \delta$, then $|f(x) - L| < \epsilon$.

A wordless way of saying this is:

$$\lim_{x \rightarrow c} f(x) = L \iff \forall \epsilon > 0, \exists \delta > 0 \text{ s.t. } 0 < |x - c| < \delta \implies |f(x) - L| < \epsilon.$$

where L and c are real numbers. Intuitively, this means that, for the limit to exist, we must be able to find an arbitrarily small distance δ between x and c that guarantees that $f(x)$ and L are less than an arbitrarily small distance ϵ apart.

Therefore, in order to verify a finite limit, we must find a δ such that $|f(x) - L| < \epsilon$. We can write δ in terms of ϵ in order to satisfy the inequality for every value of ϵ . We explore what this means in the following example.

Example 1. Prove that $\lim_{x \rightarrow -1} (4x + 1) = -3$.

Proof. In order to write δ in terms of ϵ , we start by writing out $|f(x) - L| < \epsilon$:

$$\begin{aligned} |f(x) - L| < \epsilon &\implies |4x + 1 - (-3)| < \epsilon \\ &\implies |4x + 4| < \epsilon \\ &\implies 4|x + 1| < \epsilon \\ &\implies |x + 1| < \epsilon/4. \end{aligned}$$

Our inequality is now in the form $|x - c| < \delta$. We can now choose $\delta = \epsilon/4$ and substitute it back into $|x - c| < \delta$:

$$\begin{aligned} |x - c| < \delta &\implies |x - (-1)| < \epsilon/4 \\ &\implies |x + 1| < \epsilon/4 \\ &\implies 4|x + 1| < \epsilon \\ &\implies |4x + 4| < \epsilon \\ &\implies |4x + 1 - (-3)| < \epsilon \\ &\implies |f(x) - L| < \epsilon. \end{aligned}$$

We can choose a δ such that $0 < |x - c| < \delta \implies |f(x) - L| < \epsilon$. Therefore, $\lim_{x \rightarrow -1} (4x + 1) = -3$. \square

δ is Not Unique

Example. Prove that $\lim_{x \rightarrow 3} x^2 = 9$.

Proof. We are looking for a value of δ such that

$$|x - 3| < \delta \implies |x^2 - 9| < \epsilon.$$

We can factor $|x^2 - 9|$ as the difference of two squares to rewrite the statement as

$$\begin{aligned} |x - 3| < \delta &\implies |x + 3||x - 3| < \epsilon \\ &\implies \delta|x + 3| < \epsilon. \end{aligned}$$

By bounding the factor $|x + 3|$ to a constant, we can express δ solely in terms of ϵ . We make the restriction¹ $\delta \leq 1$. It follows that

$$\begin{aligned} |x - 3| < 1 &\implies -1 < x + 3 < 1 \\ &\implies 5 < x + 3 < 7 \\ &\implies |x + 3| < 7. \end{aligned}$$

Therefore,

$$|x - 3||x + 3| < 7\delta < \epsilon$$

and it follows that we can choose $\delta = \epsilon/7$.

However, since we made the restriction $\delta \leq 1$, we must account for when $\epsilon > 7$, as that would make $\delta > 1$. Thus, we choose δ to be the minimum of 1 and $\epsilon/7$, or $\delta = \min(1, \epsilon/7)$. To verify the limit, we assume that $0 < |x - 3| < \delta$:

$$\begin{aligned} |x - 3| < \delta &\implies |x - 3||x + 3| < \delta|x + 3| \\ &\implies |x - 3||x + 3| < 7\delta \\ &\implies |x^2 - 9| < 7 \cdot \frac{\epsilon}{7} \\ &\implies |x^2 - 9| < \epsilon. \end{aligned}$$

We can choose a δ such that $0 < |x - c| < \delta \implies |f(x) - L| < \epsilon$. Therefore, $\lim_{x \rightarrow 3} x^2 = 9$. □

3 Infinite Limits

Definition. We say the limit $\lim_{x \rightarrow c} f(x) = \infty^2$ if, for any $M > 0$, there exists a $\delta > 0$ such that if $0 < |x - c| < \delta$, then $f(x) > M$.

Intuitively, we are saying that, for a limit to approach infinity, $f(x)$ must be large than an arbitrarily large value M when x and c are an arbitrarily small distance δ apart.

Similar to verifying a finite limit, we verify an infinite limit by choosing a δ such that $f(x) > M$. Just like how we wrote δ in terms of ϵ above, in the following examples we will write δ in terms of M .

Example 2. Prove that $\lim_{x \rightarrow 0} \frac{1}{x^2} = \infty$.

¹We can pick any constant as an upper bound for δ , but we use 1 for convenience.

²Strictly speaking, we cannot say $\lim_{x \rightarrow c} f(x) = \infty$, since infinity cannot be equal to anything. A more mathematically sound way of expressing the value of the limit would be to say that $f(x)$ increases without bounds, or that it approaches infinity.

Proof. In order to write δ in terms of M , we start by writing out $f(x) > M$:

$$\begin{aligned}f(x) > M &\implies \frac{1}{x^2} > M \\ &\implies \frac{1}{M} > x^2 \\ &\implies \sqrt{\frac{1}{M}} > x \\ &\implies x < \frac{1}{\sqrt{M}}.\end{aligned}$$

Our inequality is now in the form $|x - c| < \delta$, so we choose $\delta = \frac{1}{\sqrt{M}}$.

To verify the limit, we assume that $0 < |x - c| < \delta$, and substitute our choice of $\delta = \frac{1}{\sqrt{M}}$ into the inequality:

$$\begin{aligned}0 < |x - c| < \delta &\implies |x| < \delta \\ &\implies x^2 < \delta^2 \\ &\implies \frac{1}{x^2} > \frac{1}{\delta^2} \\ &\implies \frac{1}{x^2} > \frac{1}{\left(\frac{1}{\sqrt{M}}\right)^2} \\ &\implies \frac{1}{x^2} > \frac{1}{\frac{1}{M}} \\ &\implies \frac{1}{x^2} > M \\ &\implies f(x) > M.\end{aligned}$$

We can choose a δ such that $0 < |x - c| < \delta \implies f(x) > M$. Therefore, $\lim_{x \rightarrow 0} \frac{1}{x^2} = \infty$. □

Example 3. Prove that $\lim_{x \rightarrow 1} \frac{3}{(x - 1)^2} = \infty$.

Proof. We once again start by writing out $f(x) > M$ in order to write δ in terms of M :

$$\begin{aligned}f(x) > M &\implies \frac{3}{(x - 1)^2} > M \\ &\implies \frac{3}{M} > (x - 1)^2 \\ &\implies \sqrt{\frac{3}{M}} > x - 1 \\ &\implies x - 1 < \sqrt{\frac{3}{M}}.\end{aligned}$$

Our inequality is now in the form $|x - c| < \delta$, so we choose $\delta = \sqrt{\frac{3}{M}}$.

We assume that $0 < |x - c| < \delta$, and substitute our choice of $\delta = \sqrt{\frac{3}{M}}$ into the inequality:

$$\begin{aligned}
 0 < |x - c| < \delta &\implies |x - 1| < \delta \\
 &\implies (x - 1)^2 < \delta^2 \\
 &\implies \frac{1}{(x - 1)^2} > \frac{1}{\delta^2} \\
 &\implies \frac{1}{(x - 1)^2} > \frac{1}{(\sqrt{\frac{3}{M}})^2} \\
 &\implies \frac{1}{(x - 1)^2} > \frac{1}{\frac{3}{M}} \\
 &\implies \frac{1}{(x - 1)^2} > \frac{M}{3} \\
 &\implies \frac{3}{(x - 1)^2} > M \\
 &\implies f(x) > M.
 \end{aligned}$$

We can choose a δ such that $0 < |x - c| < \delta \implies f(x) > M$. Therefore, $\lim_{x \rightarrow 1} \frac{3}{(x - 1)^2} = \infty$. \square

4 Limits at Infinity

Definition. We say that $\lim_{x \rightarrow \infty} f(x) = L$ if, for any $\epsilon > 0$, there exists an $M > 0$ such that, if $x > M$, then $|f(x) - L| < \epsilon$.

Intuitively, we say that the limit of a function exists at infinity if the distance between $f(x)$ and L is less than an arbitrarily small distance ϵ when x is greater than an arbitrarily large value M .

To verify limits at infinity, we start with $|f(x) - L| < \epsilon$ and rearrange the inequality algebraically until it fits the form $x > M$.

Example 4. Prove that $\lim_{x \rightarrow \infty} \frac{1}{x} = 0$.

Proof. We start with $|f(x) - L| < \epsilon$:

$$\begin{aligned}
 |f(x) - L| < \epsilon &\implies \left| \frac{1}{x} - 0 \right| < \epsilon \\
 &\implies \frac{1}{\epsilon} < x.
 \end{aligned}$$

Now that our inequality is in the form $x > M$, we can choose $M = \frac{1}{\epsilon}$ ³.

We assume $x > M > 0$ and substitute $M = \frac{1}{\epsilon}$ into the inequality:

$$\begin{aligned}
 x > M &\implies x > \frac{1}{\epsilon} \\
 &\implies \frac{1}{x} < \epsilon \\
 &\implies \left| \frac{1}{x} - 0 \right| < \epsilon \\
 &\implies |f(x) - L| < \epsilon.
 \end{aligned}$$

We can choose an M such that $x > M \implies |f(x) - L| < \epsilon$. Therefore, $\lim_{x \rightarrow \infty} \frac{1}{x} = 0$. \square

Example 5. Prove that $\lim_{x \rightarrow \infty} \frac{6x + 2}{2x + 8} = 3$.

³Since ϵ is an infinitesimal, $\frac{1}{\epsilon}$ is a value greater than any real number, which makes sense since we intuitively interpret M as an arbitrarily large value.

Proof. We start with $|f(x) - L| < \epsilon$:

$$\begin{aligned} |f(x) - L| < \epsilon &\implies \left| \frac{6x+2}{2x+8} - 3 \right| < \epsilon \\ &\implies \left| \frac{6x+2}{2x+8} - \frac{3(2x+8)}{2x+8} \right| < \epsilon \\ &\implies \left| \frac{6x+2-6x-24}{2x+8} \right| < \epsilon \\ &\implies \left| \frac{-22}{2x+8} \right| < \epsilon. \end{aligned}$$

Since we want $x > M > 0$, we can assume $x > 0$ to drop the absolute value.

$$\begin{aligned} \frac{22}{2x+8} < \epsilon &\implies 22 < \epsilon(2x+8) \\ &\implies 22 < 2\epsilon x + 8\epsilon \\ &\implies 22 - 8\epsilon < 2\epsilon x \\ &\implies \frac{22-8\epsilon}{2\epsilon} < x. \end{aligned}$$

We can choose $M = \frac{22-8\epsilon}{2\epsilon}$. We now assume⁴ $x > M = \frac{22-8\epsilon}{2\epsilon}$ to prove that $|f(x) - L| < \epsilon$.

$$\begin{aligned} x > M &\implies x > \frac{22-8\epsilon}{2\epsilon} \\ &\implies 2\epsilon x > 22-8\epsilon \\ &\implies 2\epsilon x + 8\epsilon > 22 \\ &\implies \epsilon(2x+8) > 22 \\ &\implies \epsilon > \frac{22}{2x+8} \\ &\implies \left| \frac{-22}{2x+8} \right| < \epsilon \\ &\implies \left| \frac{6x+2}{2x+8} - 3 \right| < \epsilon \\ &\implies |f(x) - L| < \epsilon. \end{aligned}$$

We can choose an M such that $x > M \implies |f(x) - L| < \epsilon$. Therefore, $\lim_{x \rightarrow \infty} \frac{6x+2}{2x+8} = 3$. \square

5 Infinite Limits at Infinity

Definition. We say the limit $\lim_{x \rightarrow \infty} f(x) = \infty$ if, for any $M > 0$, there exists an $N > 0$ such that if $x > N$, then $f(x) > M$.

We can combine the definitions for infinite limits and limits at infinity into a definition for a limit that increases without bound as the independent variable increases without bound. Intuitively, if $f(x)$ is greater than an arbitrarily large value M when x is greater than an arbitrarily large value N , $f(x)$ has an infinite limit at infinity.

To verify these types of limits, we start with $f(x) > M$ and rearrange the inequality into the form $x > N$.

Example 6. Prove that $\lim_{x \rightarrow \infty} (4x+1) = \infty$.

⁴We once again observe that $\frac{22-8\epsilon}{2\epsilon}$ approaches infinity since ϵ is an infinitesimal.

Proof. We start with $f(x) > M$:

$$\begin{aligned}f(x) > M &\implies 4x + 1 > M \\ &\implies 4x > M - 1 \\ &\implies x > \frac{M - 1}{4}.\end{aligned}$$

Therefore, we choose $N = \frac{M-1}{4}$. We assume $x > N$ and substitute $N = \frac{M-1}{4}$ into the inequality:

$$\begin{aligned}x > N &\implies x > \frac{M - 1}{4} \\ &\implies 4x > M - 1 \\ &\implies 4x + 1 > M \\ &\implies f(x) > M.\end{aligned}$$

We can choose an N such that $x > N \implies f(x) > M$. Therefore, $\lim_{x \rightarrow \infty} (4x + 1) = \infty$. \square

Example 7. Prove that $\lim_{x \rightarrow \infty} \frac{11x + 3}{7} = \infty$.

Proof. We start with $f(x) > M$:

$$\begin{aligned}f(x) > M &\implies \frac{11x + 3}{7} > M \\ &\implies 11x + 3 > 7M \\ &\implies 11x > 7M - 3 \\ &\implies x > \frac{7M - 3}{11}.\end{aligned}$$

Therefore, we choose $N = \frac{7M-3}{11}$. We assume $x > N$ and substitute $N = \frac{7M-3}{11}$ into the inequality:

$$\begin{aligned}x > N &\implies x > \frac{7M - 3}{11} \\ &\implies 11x > 7M - 3 \\ &\implies 11x + 3 > 7M \\ &\implies \frac{11x + 3}{7} > M \\ &\implies f(x) > M.\end{aligned}$$

We can choose an N such that $x > N \implies f(x) > M$. Therefore, $\lim_{x \rightarrow \infty} \frac{11x + 3}{7} = \infty$. \square

Works Cited

- “2.4.3 Prove Infinite Limits Using Precise Definition (M-Delta, N-Delta Definition).” *YouTube*, uploaded by MathIsFunDaily, 30 Aug. 2020, www.youtube.com/watch?v=3efIs4cR7h8.
- Dean. *MTH 210 Calculus I*. LibreTexts, 2.7: *The Precise Definition of a Limit*, [https://math.libretexts.org/Courses/Monroe_Community_College/MTH_210_Calculus_I_\(Professor_Dean\)/Chapter_2_Limits/2.7%3A_The_Precise_Definition_of_a_Limit](https://math.libretexts.org/Courses/Monroe_Community_College/MTH_210_Calculus_I_(Professor_Dean)/Chapter_2_Limits/2.7%3A_The_Precise_Definition_of_a_Limit).
- “Delta Epsilon Proof Quadratic Example with x^2 .” *YouTube*, uploaded by The Math Sorcerer, 20 Sep. 2018, <https://www.youtube.com/watch?v=9K1QBJHbc7s>.
- Hass, Joel R., et al. *University Calculus: Early Transcendentals*. LibreTexts, 2.3: *The Precise Definition of a Limit*, [https://math.libretexts.org/Bookshelves/Calculus/Map%3A_University_Calculus_\(Hass_et_al\)/2%3A_Limits_and_Continuity/2.3%3A_The_Precise_Definition_of_a_Limit](https://math.libretexts.org/Bookshelves/Calculus/Map%3A_University_Calculus_(Hass_et_al)/2%3A_Limits_and_Continuity/2.3%3A_The_Precise_Definition_of_a_Limit).
- OpenStaxCollege. “Calculus Volume 1.” 2.5 *The Precise Definition of a Limit* | *Calculus Volume I*, 1 Feb. 2016, courses.lumenlearning.com/suny-openstax-calculus1/chapter/the-precise-definition-of-a-limit/.
- Rauh, Nick. “The Epsilon-Delta Limit Definition: A Few Examples.” Dartmouth College.